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The ﬁgures in the margm mdlcate fyll marks -
for the questions.

Answer either in Enghsh or in Assamese

?@@mm%‘@aw:

.. Answer the followmg questlons 1><10‘10 .} |
' "'.','(1) Ts {x:x+5 5} a null set? -

. {x:ix+5=5} aﬁtﬁ@w’tﬁsm?
(i1) Evaluate (snw qﬁcﬁ W) o

‘ log 27

(iii)Is a scalar matnx, a d1agona1 matnx ? (Yes/
- No).

aﬁwﬁ#@wﬁﬁﬂﬁmmm?

" [Turn over -



" ) Fill in the blank:

(v) If any two rows (or columns) of a

determinant are identical, what will be the '

" value of the determinant:? -

| [mﬁcﬁmﬁﬁ@m@lﬁ@tw)aﬂw'

- 2, ﬁcﬁﬂmwﬁ%{?%‘eﬁl
| 5;@-— ( )

. ‘(vu) Evaluate (srm ﬁ‘ﬁ W) I—' ax |

(vm) Fmd the slope of- the lme whlch passes |

through the points (5, —2) and (3, .—1)

(5 -2) =% (3, -1)ﬁ"ﬁmmm
) ezact—fﬁcﬁasan

<

(1x) If mterest is compounded lialf yeaﬂy, w.hat, -

is the formula for ﬁndmg amount ?

TS & WA WS SEE BB sl - )
Wﬁﬁﬂmmlﬁven(ﬁmw”

A= Amount (ﬂ?{@@?i), r = Rate (%% 5]3),

: ';P Prmmpal (SF-NW), n= Nq. of years (¥=) "
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v(x) Give the definition of 'decision varlable
associated with linear programmmg .
Wm«aﬂ—@ﬁa—ﬁ‘ﬁﬂwwmw
fﬁ’m

(i) Is —116atenn oftheAPserles 46, 38, 30

46, 38, 30, . GBI ceifﬂc“t?ﬁ Bl o7

~116 = ?_ I 2%5=10

e [5 -2] . 23]
(ii) If ("lﬁ) A—,'[O | 7] ,u.}B— [_1 4 ]

. find (ﬁfzx <N BA,

| (iii) Write two dlfferences between a matrlx and
a determmant

&t cﬁlﬁwmmﬁ‘ﬁﬂ«m@tw |

ﬁzm o
'f(w) For what value of m, the line mx — 'Sy'—
11=0 passes through the pomt (=7,-9) ? Find.

m?ﬁﬁﬂm?nmmx Sy—11=0 @Qﬂw.
(—7 9)%wm?ﬁeﬁW|

| :‘(V) Prove that (3!517‘1‘ W (.‘ﬂ)

SR S ‘1“=
log, (abe) - _logb (abc) log_ (abo)

1/4(Sem-1) BMT (3 - [Tum over



3. Answer the followmg questlons  5x4=20.
=T emﬁﬁnaﬁ e fral s |

(a) If a, b, ¢ be the pth qth" and rth term
respectively of a GP, prove ‘that =

* - i a, b, ¢ TN B ST etsﬂ"‘?pw qo¥
O IO S W, O T R

L geT P = 1
Or / 71’13?11

A man took a loan of Rs 7200 to be repald

in 20 lnstalments, ‘where the instalments form

- an A.P. After 15 instalments one-third of the

.. loan remains unpald Find the value of 16th
instalment. ‘

| awm{cizoﬁﬁsﬁrﬂﬁmaﬁwqﬁnoo
"Bt giseet e | 1561 ¥ s s aray v
@ (¢ G-I ATy IR cofenns

R iice) 7 BRI @B AT oo oign

(b) A machine costs Rs. 4,00,000. Its value
~ depreciates at the rate of 10% p.a. What w1ll
- be its value after 4 years? ’

Rt mﬁﬂawmooootwimwam '
2[R 10% ==, 4@@%:@%
@9 " -
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- Or/wiE |
_In how many years' will an apnuity of
Rs. 400 amount to Rs.. 4064 if interest is 3%

| compounded annually ?
‘ Wmaiﬁmf%mmmmaﬁw%w N
an vﬁwag—mo%mam#rﬁ%ﬁawqﬁmmm
S me
' Given' (ﬁzn suza) log 1 3048 01155
" log 103 = 00128

(9) Show_that (04:{@?1 c’J)"
“l+a b ¢
a b c|=l+atb+c

a , b T 9‘ .

| o Or/aﬁ?n
If(tﬁ)U—{l 2,3, 4 56, 7, 8)
= {1,234
- (2,35 T)
= (2, 4, 6,,8}.__; o
Fmd (ﬁ"ﬁ W)
6) An@®- C);

(i) AU B.-O°

l4EemyBMT ) [Tum.over



(d) Prove that (ﬁ‘iﬂ"i = @)
P, = 2 (L35 (2n 1)}
' o Or/ 31?&1

A questlon paper consnsts of two groups A
-and B, Each group. consists -of 5 questions.
~In how many- ways a student can answer 6

~ questions in all if he has to answer at least

~ two ‘questions from each group ? -
| G4 RIS A SIE B 751 wiee Row | #ifecs!

.w\ﬁ—sﬁmmmlsﬂwwmﬁﬂﬁ .

| A 651 g e iR SiifRT afiitg (o8 &fTHt

weﬂaﬂwﬁwmmww.

”am?

4

‘ 4;.(a) SolvebyCramersrule S 7

.mﬁavpmﬂﬁwmwx
3X+y+22 3
?"-2x-—3y—z-—3'
.X+2y+z—4

Or/ 7!1331

~ Find the‘i‘hverse of the matrix :

={2 -1 3|
4 1 8

usem D BMT (6



(b) If () a* + b2 = 1~4ab,';provevf that (et
Q) S o 3

Iog{\/ (a - b)}— ~2 Iog2+loga+log b)

or/Amm
" Prove that (2!311‘1 /A C?I) |
.xlqgiy-"longx ylog‘z-‘iég’i );"tzziogfx—liogy{_—:_ 1 -

5. (a) Establish the equation of a line in the form -

y—rnx+c_4_‘_ ' ~ 5.
. REERER y = mx+csnastaas|ﬁ=ﬁ°t erf:‘ét
UL - :__,4._, SRS , .

| (fb) Find the equatlon of the line passing through,-
. the point of 1ntersect10n of the fines 2x — 3y —

- 9=0and 5y -3x+14= 0 and perpendlcular
to the line. 6x— 7y +: 11 =0. : 5
2x — 3y 9 = 0:=F Sy.— 3x+ 14=0 @‘&lﬁ

. @WWWWW 6x—7y+11=0
WWWWW##T@%WI )

| | .Or/ =iz L

A ﬁrm finds ‘that its fcustomers w1ll buy 15%
~ more of its product if the price ‘of the product
"+ is reduced by Rs: ‘5" When 'the price  is

Rs. 25, the firm .is “selling. 1000 - units.
: Assummg the demand curve to be hnear ﬁnd

o its equatlon

1/4(Sem-l) BMT (1 -+ [Tum over




" QW I O R (@ M (o€EnT Besife

TG TT A4S GO 5 TR B, (OWREA

U codtERT A R 9s AR 15% A

sﬁmrmqﬁﬂﬁiﬂﬁﬂﬁwqﬁcﬁw

ﬂmaﬁawwzswm COSTENT
1000 «ﬂ?ﬁﬁ’glml -

6. (a):() If (aﬁ) ¢ (x) =1 prove that (2519 w1
4 _.czr).-._‘ j L 3
e b o '.'-."' R L N S R
R b(2x+b)
. x+b X)= ————
(u) Evalu,ate: (Wﬁ‘fil W) 2
o x:—>0 \/J2+:x \/2 x .
| | *Or/ﬂﬁ?rl
"’. A ﬁmctlon 1s dbﬁned as :

" T TS ﬁin iﬁ‘ﬁ

f(x)

VR T

{1 X 0<’x<1

Lo h QX—”I, |X>1

| : {I's':ii’?(;c)-.cgbntmuous at x = 1"‘?V' o
f(x)ﬁﬁﬂx**l*ﬁ’i@’@ﬂﬁ%m ﬂiﬁﬁ

Ve
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(b) Find - AR 242+1=5
(i) the average revenue ﬁmctlon (AR)
(ii) the margmal revenue functlon (MR)

0 R TH (AR) %
~ (11) mf@asﬁfﬁW(MR)ﬁﬁw

o Total revenue (ﬁ ﬁ?ﬁ W) (TR) -

1 _25Q_._Qi+3
| Q No of output sold (5[3 ﬁ@ Cﬂ?ﬂ‘ ﬂmé“la
' 'Evaluate AR and MR ‘at Q = 4 ‘
'Q—4aat@Ath¢MRam=tﬁcﬁrW|
| Or/ﬂﬁ?" |

A radro manufacturer ﬁnds that he can sell
X rad;os per- week at Rs P each ‘where

P= 2(100 _._‘i_) HlS cost of productlon for X

_ L 2

- radlos per week is Rs (120" 5 ] Show h

~ that his profit is. maxrmum ‘when the

.productlon is 40 umts per week. Also find
the maxrmum proﬁt

l/4(Sem-I)BMT B ) S ‘--»'[Tum over



R TR otica, 7' P='2(100-§). P

2

'G@@aqkﬁeﬂmw (120x - l{‘) =, (ST

| ‘oryedt a1 RS 401 e R e (oe

T ‘(5)

@) I4x2 —10x+8

e RS = | oS Tee mﬁfww

AR ﬁcﬁ =l
Integrate any two of the followmg 2><2'='44 e

Wﬁ@ﬂ@@ﬁﬂ?ﬁﬁﬂﬁ‘ﬁ@°

@ j’ (6x +1) J3x2+x dx

-5

| ;(iiii I e™ dx

8. .Solve the fouowmg LPP praphically. - 6
' =R R WWWWW&HWI

A MaxumzeZ 50x + 80y

subject to the constraints

X +2y < 160 -

5x +6y < 600.
x < 80

'y < 60 X, y20.
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